Select a common household product or service. Then select three different organizations that provide your selected product or service and compare the prices associated with your selected product or service. Are the different organizations using different pricing strategies? What strategies are being used and why?   

Let's look at a 6 pack of Charmin toilet paper as an example. This product can be purchased at a Supertarget for $2.50/pack, A&P grocery chain for $2.75/pack or a local convenience store for $3.50/pack.  The reason that you pay the most at the convenience store is because of the fact that the convenience store cannot offer the same scale of economy vs. a larger superstore.  You are paying for the convenience of being able to walk to the neighborhood store and make your purchase in a matter of seconds.  The reason that the Supertarget is cheaper is that they may be using the product as a loss leader to get the consumer into their store in the hopes that the customer will purchase more expensive items.  The Supertarget sells other things like house wares, clothing, etc, in addition to groceries.  The A&P is in the middle in terms of price because while they may have the same economies of scale like a Supertarget in terms of size of grocery, they may be less inclined to use the product as a loss leader.

